
Math Logic: Model Theory & Computability
Lecture 03

Nef. For a O-structure B
,
we say that a subset A&B supports a substructure

if there is a substructure of B with underlying set A
.

We abuse ter-

minology and just say
But A is a substructure

.

Obs
· Let I be a i-structure and ACB

.

(a) A can only support at most one substracture
.

(b) A supports a substructure <=> A contains the constants of 1 and
is closed under the functions of 1

,

i
. e .

c A for each ct(oust(0)
I

·* (A") = A for each n-ary feFunct(d) .
(b) In particular

,
ifI has no constant and function symbols , then every

subset supports a substructure
.

PropArbitrary (maybe nuctlol) intersections of substructures isse-

Proof. IfI is a -structure and <Ai : it I) is a family of sub-
structures of I with underlying sets Ai , then &As is asubstrac

ifIture by (b) of Obs
.
above because each As contains the contacts

of 1 and each Ai is closed under the functions of B .

let B be a restructure and S = B
.
Since there is always at

least one substr . of B containing s , namely I itself , we can define
the substructure generated by s as the intersection of all substruc
tures contain S

,
Has te -smallest substructure retaining 3.

We denote it by 33.








